



**Vendor Ranking** 

Page 1 of 1

**Letting:** 01180920

September 20, 2018 11:00

AM

Call Order: 003

Contract: E1

E1R89

District:

District 1

Counties: GLADES, HENDRY

Fed Aid No: N/A

**Project(s):** 44358417201 (\*)

**Contract Time:** 365 AVAILABLE DAYS **Contract Desc:** Sidewalk Repair - BDI

Rank	v Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	WRANGLER CONSTRUCTION INC.	Responsive	Winning bid	\$24,920.00	100.00%
2	SPARKS CONCRETE, LLC.	Responsive	Non-Winning Bid	\$29,000.00	116.37%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$34,300.00	137.64%
4	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$57,500.00	230.74%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





**Tabulation of Bids** 

Page 1 of 4

Letting: 01180920 September 20, 2018 Call Order: 003 Contract: E1R89

District: District 1 Counties: GLADES, HENDRY Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS Project(s): 44358417201 (\*)

Contract Descr: Sidewalk Repair - BDI

The work under this Contract consists of Sidewalk Repairs (BDI) in Hendry County.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at http://www.fdot.gov/equalopportunityoffice/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdi-projects.html

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: http://www.fdot.gov/contracts/forms/forms.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the projects major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the Expedite application.

BDI Reference Sheet may be found at: http://www.fdot.gov/equalopportunityoffice/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashiers Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09.

A Contract Bond is not required for contracts \$250,000.00 and less.

Line No / Item ID Alternate Item Description	Quantity Units	(1) WRANGLER CONSTRUCTION INC.		(2) SPARKS CONCRETE, LLC.		(3) ROGAR MANAGEMENT & CONSULTING OF FLORIDA	
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LLC Ext Amount





## **Tabulation of Bids**

Page 2 of 4

Letting	g: 0118	30920 S	eptember 20,	2018 <b>Cal</b>	ll Order: 003		Contract:	E1R89	
	No / Item ID Description	Alternate	Quantity Units	(1) WRA CONSTRUC		(2) SPARKS CO	NCRETE, LLC.	CONSULTIN	ANAGEMENT & G OF FLORIDA
() ind	dicates item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
	SECTION: 0	001 C	CONCRETE SI	DEWALK REPAIR	(SY)				
0005 REMOV	0110 4 10 AL OF EXISTING	CONCRETE	300.000 SY	18.00000	5,400.00	20.00000	6,000.00	18.00000	5,400.00
	0522 1 ETE SIDEWALK VAYS, 4" THICK	AND	200.000 SY	55.00000	11,000.00	48.00000	9,600.00	88.00000	17,600.00
	0522 2 ETE SIDEWALK VAYS, 6" THICK	AND	100.000 SY	60.00000	6,000.00	82.00000	8,200.00	98.00000	9,800.00
0020 DETECT	0527 2 TABLE WARNING	GS	100.000 SF	25.00000	2,500.00	44.00000	4,400.00	10.00000	1,000.00
0025	E110 70		1.000	20.00000	20.00	800.00000	800.00	500.00000	500.00
REMOV	AL OF FLEXIBLE	PAVEMENT	SY						
0001	I CONCRETE SII REF	DEWALK Sec PAIR (SY)	ction Totals:		\$24,920.00		\$29,000.00		\$34,300.00
	C	Contract Gra	nd Totals:		\$24,920.00		\$29,000.00		34,300.00





**Contract Grand Totals:** 

**Tabulation of Bids** 

Page 3 of 4

Letting:	01180920	September 20,	2018 <b>Cal</b>	l Order: 003		Contract:	E1R89	
	o / Item ID Alterna	ate Quantity Units	(4) MIDW CONSTRUC					
() indica	tes item is bid as Lump Sun	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
•	SECTION: 0001	CONCRETE SI	DEWALK REPAIR	(SY)				
	110 4 10 OF EXISTING CONCRE	300.000 ETE SY	50.00000	15,000.00				
CONCRET	522 1 E SIDEWALK AND YS, 4" THICK	200.000 SY	125.00000	25,000.00				
CONCRET	522 2 E SIDEWALK AND YS, 6" THICK	100.000 SY	130.00000	13,000.00				
	527 2 BLE WARNINGS	100.000 SF	40.00000	4,000.00				
	110 70 OF FLEXIBLE PAVEME	1.000 ENT SY	500.00000	500.00				
0001 C	ONCRETE SIDEWALK REPAIR (SY)	Section Totals:	1	\$57,500.00		1		

\$57,500.00



10/04/2018

### **Tabulation of Bids**

Page 4 of 4

**Letting:** 01180920

0 September 20, 2018

Call Order: 003

Contract:

E1R89

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.